auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

232F

|
1 232

]
[

S Slgils ol

R R R R o R R R R R o R R R S S o R R R

Ay pas SN g gt V) s S Vo il T

8/+Y/1$ M (03) iens o

;Jlf_'- ,_.‘“-1 i b et
iR g sl e gle Sl

sE gl e gl

‘ 110 Jhom J518 Kl o gl 515 100,598 (59339 039037 ]
| 1YY oS e (55 9LiS oy ga! ilSio  cwihigo I

Aa VB 5 e fily i VAS o Sl [
kTRt

3
13

_______
Ak

Yl 8 yleds g luad | Glowial Slga les

egleas U | aglod 51| Niaw olani lonial ales w3
T 1 r. [l BSl) il 3 gogos Glij | )
e} bt T WSapalas Iﬁh{ﬁ‘:"'“ Y
e o T T T T T
Yes A T Slazol g el F
1Y 1+ Y- e e | 8
¥ A4 T il F
i YFY Th [Teia v ere ¥
LY. \FF L sl clilel 7ok A

KGR REREG R R R IR R R R 1R R R | R R R R

D18 ghie & poi 3903
e e b g.uil.n 3l sl

RE|RE|RE R R | R R R 1R R R R R R R R R R
%

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

Y asio 232F gkt g il | wdiden

HguaedSl) i § ogok b

[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
| mark the correct choice on your answer sheet.

1-  This evening's meeting is one in which important issues would be discussed; your
attendance is -—————---- .

1) obligatory 2) didactic 3) relevant 4) explicit

2-  After a long ------- -— between the former husband and wife over the custody of the child,
the court finally decided to grant the custody to the mother.
1) contradiction 2) cruelty 3) squabble 4) hesitation

3- In Australia, animals are reared on crop residue, Without the animals, these residues
would have to be —-———-=- by other means before another crop can be grown—often by
burning.
1) deprived of 2y disposed of 3) resorted to 4) alluded to

4-  Unable to ---———- the tyrannical rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the night.
1) scold 2) acclaim 3) bear 4) treat

5-  Why do some animals, such as humans, ----—--- to sleep, whereas others, such as elephants
and giraffes, stand?
1) require 2) snore 3) setup 4) lie down

6-  With sixteen vietories in a row, the Australian ericket team was looking quite unassailable,
but they were finally ----—-- at the hands of the Indians.
1} dispersed 2) vangquished 3) confronted 4) disregarded

7-  The salesboy tried to persuade the old man te buy goods from him, but had to give up
when the old man told him ——-—------ that he would not buy anything from him.
1) arbitrarily 2) haphazardly 3) unequivocally  4) necessarily

5- But he had become —------—- to the rush and whirr of missiles, and now paid no heed
whatever to them.
1) inured 2) rendered 3) constrained 4 affirmed

9-  The judge openly associated with racist organizations; nevertheless, he showed no
--------- in his decisions during his career.

1) uniqueness 2) dexterity 3) gratitude 4) prejudice

10- 1 don't have any explanation for his -——----- behavior at last night's party, though I'm
sure that he is quite apologetic about it.
1) credible 2) resolute 3) distinct 4) bizarre

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on vour answer sheet.

Where do such creative sparks come from? How can we conjure them whenever we want?

And why can that be (11) --—--—---—-- anyway? A complete understanding isn’t here vet,
(12) -----——--- neuroscientists are already on the trail of (13) ---—------. They also have some
good news for each of us (14) -----—--- to ignite those inventive fires. As it turns out.

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

¥ amina 232F gkt g il | wdiden
(15) —----m-- our own muse may be easier than we think. especially if we learn to make a
habit of it.
11- 1) infernally difficult so to do 2) so infernally difficult to do
3) difficult infernally to do so 4) to do so infernally difficult
12- 1) in spite of 2) however 3) nonetheless 4) but
13- 1) where and how does creativity arise  2) creativity how and where it arises
3) where and how creativity arises 4) creativity does arise where and how
14- 1) who has ever struggled 2) struggled ever
3) have ever struggled 4) ever to struggle
15- 1) wetap 2) when we tap 3) and taps 4) tapping

Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or
{4). Then mark it on your answer sheet.

PASSAGE 1

Optical sorting is the automated process ol sorting solid products using cameras
and/or lasers.
Depending on the types of sensors used and the software-driven intelligence of the
image processing svstem. optical sorters can recognize objects’ colour. size, shape,
structural properties and chemical composition. The sorter compares objects to user-
defined accept/reject criteria to identify and remove defective products and foreign
material (FM) from the production line, or to separate product of different grades or
types of materials. Optical sorters are in widespread use in the food industry worldwide,
with the highest adoption in processing harvested foods such as potatoes, [ruits.
vegetables and nuts where it achieves non-destructive. 100 percent inspection in-line at
full production volumes. The technology is also used in pharmaceutical manufacturing
and nutraceutical manufacturing, tobacco processing. waste recycling and other
industries. Compared to manual sorting. which is subjective and inconsistent. optical
sorting helps improve product quality. maximize throughput and increase yields while
reducing labour costs. In general. optical sorters feature four major components: the feed
system. the optical system. image processing software and the separation system. The
objective of the feed system is to spread product into a uniform monolayer so products
are presented to the optical svstem evenly. without clumps, at a constant velocity. The
optical system includes lights and sensors housed above and/or below the flow of the
objects being inspected. The image processing system compares objects to user-defined
acceptreject thresholds to classify objects and actuate the separation system. The
separation system. usually compressed air for small products and mechanical devices
for larger products like whole potatoes, pinpoints objects while in-air and deflects the
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objects to remove into a regject chute while good product continues along its normal
trajectory.

It is stated in the passage that optical sorters —-----—---- :

1) are best at recognizing objects” colour

2) can be used in processing harvested nuts

3) include a complex laser imaging system

4) have to be placed on top the inspected objects

The passage points to the fact that in optical sorting ——------——-- .
1) objects are classified based on an actuating system

2) the image processing system is sometimes applied

3) bad products a thrown into chute for more inspection

4) whole potatoes are not separated by compressed air

The passage mentions that -———-------- —_

1) the first optical sorting systems were designed in Japan

2) optical sorters were originally developed for car manufacturing
3) in optical sorting objects are fed into the system in one layer

4) size of potatoes can determing their chemical composition
According to the passage ----———----- -—

1) optical sorting is cheaper than manual sorting

2) optical sorters reject the defective materials into a bin

3) some optical sorters do not need processing softwares

4) tobacco processing is still done by hand in some countries

The word *threshold’ in the passage (underlined) best means ----——------- —
1) *lower limit’ 2) “upper limit’ 3) ‘median limit"  4) “standard limit’

PASSAGE 2:

When alfalfa is to be used as hay. it is usually cut and baled. Loose haystacks are still
used in some areas. but bales are easier for use in transportation, storage, and
feed. Ideally. the first cutting should be taken at the bud stage, and the subsequent
cuttings just as the field is beginning to flower, or one-tenth bloom because
carbohydrates are at their highest. When using farm equipment rather than hand-
harvesting, a swather cuts the alfalfa and arranges it in windrows. In areas where the
alfalfa does not immediately dry out on its own, a machine known as a mower-
conditioner is used to cut the hay. The mower-conditioner has a set of rollers or flails
that crimp and break the stems as they pass through the mower, making the alfalfa dry
faster. After the alfalfa has dried. a tractor pulling a baler collects the hay into bales
Several types of bales are commonly used for alfalfa. For small animals and individual
horses, the alfalfa is baled into small. two-string bales, commonly named by the strands
of string used to wrap it. Other bale sizes are three-string, and so on up to half-ton (six-
string) "square" bales — actually rectangular, and typically about 40 x 45 x 100 cm. Small
square bales weigh from 25-30 kg depending on moisture, and can be easily hand
separated into "flakes". Cattle ranches use large round bales, typically 1.4 to 1.8 m in
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diameter and weighing from 500 to 1,000 kg. These bales can be placed in stable stacks
or in large feeders for herds of horses, or unrolled on the ground for large herds of cattle.

According to the passage, -———------——- .

1) alfalfa is most rich in minerals at the bud stage

2) teeders for herds of horses are unrolled on the ground

3) six-string bales of hay may be used in cattle ranches

4) *three-string” is the most common size for hay bales

We may understand from the passage that -----———-—--——,

1) two-string bales of hay never are less than 200 kg.

2) loose havstacks are easy for storage and feed

3) square bales donot usually weigh over 30 kg.

4) large ranch stables are filled with hay for the winter

The passage points to the fact that *mower-conditioners’ ---—--——--—-—- --.
1) are not simple mechanical devices  2) compact hay as well as cut it

3) save a lot of labour cost 4) do not form hay into bales
The passage is mainly about the —-----——----- of alfalfa.

1) ‘growing costs”  2) “harvesting’ 3) ‘'medicinal uses’ 4) “varieties’
The word *erimp’ in the passage (underlined) is closest to —-—-——---———- .

1) “pull® 2) “press’ 3) ‘push’ 4) “pour’
PASSAGE 3:

Plastic mulch is a product used. in a similar fashion to mulch, to suppress weeds and
conserve water in crop production and landscaping. Certain plastic mulches also act as
a barrier to keep methyl bromide. both a powerful fumigant and ozone depleter, in the
soil. Crops grow through slits or holes in thin plastic sheeting. Plastic mulch is often
used in conjunction with drip irrigation. Some research has been done using different
colours of mulch to affect crop growth. This method is predominant in large-scale
vegetable growing, with millions of acres cultivated under plastic mulch worldwide each
vear. Disposal of plastic mulch is cited as an environmental problem: however,
technologies exist to provide for the recycling of used/disposed plastic mulch into viable
plastic resins for re-use in the plastics manufacturing industry. The benefits from using
plastic mulch come at a higher cost than planting in bare soil. These costs include
equipment. the plastic film used as the mulch. transplanters designed for plastic beds.
and additional labour during installation and removal of mulch films. Specialized Mulch
Application (SMA) equipment must be used to install plastic mulch beds into a field.
These machines shape the soil and apply the plastic to the prepared soil. Transplanters
designed for plastic mulch can be used to plant the desired crop. The removal of plastic
mulch also contributes to a higher cost through additional labour and equipment needed.
Specialized designed undercutting equipment can be used to remove the plastic from the
field after harvest. If conventional plastics (e.g. PE) are used as mulch films, they are
likely to accumulate in soil, since the removal and the correct disposal of these plastics
are technically and economically burdensome.

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

Foasio 232F gkt g il | wdiden

26-

27-

28-

29-

30-

The passage suggests that -——-——————-- -

1) undercutting equipment do not affect plastic mulch

2) mulch transplanters insert plastic film in plastic beds

3) drip irrigation can be performed only with plastic mulch
4) plastic mulch cannot be installed into a field by hand
The passage points to the fact that —--—-——--

1) plastic mulch should be applied to soil w hcn it is dry

2) removal and disposal of plastic muclch is technically easy
3) methyl bromide can be harmful to the earth’s atmosphere
4) plastic mulch suppresses conserve water in most plants
According to the passage, -———--m--mmmm-

1) removal of plastic mulch is cheapf:r than installing it

2) multiple layers of plastic sheeting forms plastic mulch

3) plastic mulch is best used in growing wheat and maize
4) plastic resins can be extracted from plastic mulch

The passage is mainly concerned with ------——e-uneo- .

1) use of plastic mulch in developed countries

2) mass-production of plastic mulch

3) plastic mulch in vegetable-growing industry

4) disadvantages of using plastic mulch

The word *fumigant® in the passage {under]med} is closest to ——--—----—---

1) “smoke’ 2) ‘powder’ 3) ‘poison’ 4) - h:rlllm:r
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